SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
20,230,505 18,883,309 1,347,196
= 5,397,741
g 2,154,094
J| 88,740
Al 3,649,992
iy 8,939,938
A5 oY 16,115,611 16,442,927 N327,316
= 5,373,736
g 2,154,094
J| 6,240
Al 2,738,914
iy 5,842,627
SEANZ OIS A 2,001,864 1,958,230 43,634
= 421,200
J| 6,240
Al 743,858
iy 830,566
2elfds g X 15,600 14,400 1,200
J| 6,240
Al 3,120
iy 6,240
201 «BtEAd| 15,600 14,400 1,200
J| 6,240
Al 3,120
o 6,240
01 AtR22id] 15,600 14,400 1,200
ogdsY 15,600
OsxZS s+ (122
15,600,000& 15,600
J| 6,240
Al 3,120
= 6,240
XNel ss52te 13,254 12,820 434
101 1A H| 8,054 7,720 334
10 JI2ZtHIZ2ENSE S 8,054 7,720 334




2A: sS4

M SIh AS O
el SEAGOAY A5 (S5l &2)
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
ORASHEN o SNF=HME 8,054
oJza 32,0002 12 #1232 3,936
OETEN 32,0002 #12§ x592 1,888
o3zl 5,00021+1% %1232 615
OnE| 5,00021*1% %1232 615
ONzag 600
TEDY 40,0002 1 x6 240
CE U 20,0002 *32 x6 2 360
OYE S| 40000021 *1Z 13l 400
201 L2yl 1,000 1,000 0
01 AtR2elt] 1,000 1,000 0
oYxz 1,000
OSXSYUHE SBFUIY Z|
1,000,0002 1,000
202 Ofl 1,200 1,100 100
01 =Loit| 1,200 1,100 100
CEDIL] 1,200,0002 1,200
01 YuBAZ 3,000 3,000 0
10 SAFAHIZ A 3,000 3,000 0
osxzS 4
75,0002 +40% 3,000
= 2101 G X & 148,800 143,200 5,600
201 L2yl 2,800 2,800 0
01 AtRZ2lb] 2,800 2,800 0
o2yag 2,800
OszaolS 2,800,0002 2,800
202 01l 7,200 10,100 A2,900
01 =Loit] 1,200 1,100 100
CEDIL] 1,200,0002 1,200
03 =20ty 6,000 9,000 3,000
CLEEE=BIEy
3,000,00021 *2% *13| 6,000
203 ARFXY| 3,000 3,300 A300




2A: sS4

HE: 5)h AS O
CHol: SEASIIEY A5 Rk

M-S (3) - HRAY - BES Aro e =2
03 AIMFAAHR XY 3,000 3,300 A 300
O=&dYSFF&I 3,000,000& 3,000
301 YEtEa= 91,800 87,000 4,800
07 BlZtel=2/( bl 64,800 63,000 1,800
OFH=H2BHO Hel=sHII=HE
3,000,000& * 18K *60% 32,400
O=sE=XN&EX Hed=sSI= e
3,000, 000& * 18 +60% 32,400
10 BAIAHIEAS 27,000 24,000 3,000
OFH=HEIGO 2t & AL
16,000,000& 16,000
OsEXNEA 2tegs & /AT S 8,000,000& 8,000
Oz = L= BIXIOH
60,0003 x 10 53] 3,000
307 QIt0IA 44,000 40,000 4,000
02 QtFAE X 44,000 40,000 4,000
OFH=HZHe IHESHAU =
22,000,000& 22,000
O=EXNEA &0t2U 3 22,000,000& 22,000
golxtd X 931,600 1,033,600 A 102,000
Al 521,696
= 409,904
301 Lptsazg 931,600 1,033,600 A 102,000
Al 521,696
= 409,904
02 Headei=a 931,600 1,033,600 A102,000
O=OI XA & XS XA (685Y)
931,600,000 931,600
Al 521,696
o 409,904
deRsdEXNE=2 42,210 42,210 0
Al 8,442
= 33,768
201 ZEH2IH] 42,210 42,210 0
Al 8,442
= 33,768
01 At 2eld] 42,210 42,210 0




FA s
g =0 &S o ¥

SR SEAIFOLE Y 235} (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OYEt=EH| 42,210
OsgRsdE2lss 6,700 x525F «12& 42,210
Al 8,442
= 33,768
SsELE=SI|IX 8,000 10,000 A 2,000
301 LBt A= 8,000 10,000 A2,000
10 AL HIBAZ 8,000 10,000 A2,000
OSELLSIIHXSBA L A
10,0003 200 *4 3| 8,000
FFOIE=X= 842,400 569,600 272,800
= 421,200
Al 210,600
o 210,600
301 et8A= 842,400 569,600 272,800
= 421,200
Al 210,600
2 210,600
02 Hetz¥dstia 842,400 569,600 272,800
O=sHoALOIYFH|(558H) 842,400,000 842,400
= 421,200
Al 210,600
= 210,600
s sXeZe &5 2,801,836 3,140,202 N 338,366
= 12,000
g 1,296,094
Al 695,423
iy 798,319
sMs=MHE0SEd 305,000 200,000 105,000
rag 100,000
Al 50,000
iy 155,000
402 QIZtXIE0| A 305,000 200,000 105,000
g 100,000
Al 50,000
iy 155,000




A s

B 50}
L —

el =9 =X 0ITe HE Rk
SA - EH .S (BH) - MBAY - B Ofl A o4 gggf; HRS2
01 QI2tX=2E X 305,000 200,000 105,000
O=sM=s=HE0ISZd(11A)
200,000,000& 200,000
rag 100,000
Al 50,000
= 50,000
0O2= SM==HEg0IS atEA HE (14
A 50m) 150,000, 000& *70% 105,000
SIHER0IAIY X3 16,848 16,416 432
Al 9,477
iy 7,371
402 QIZ2EXE0| A 16,848 16,416 432
Al 9,477
iy 7,371
01 QI2X=2EX 16,848 16,416 432
OBIIEL0IX AL (182)
21,060, 000& *80% 16,848
Al 9,477
= 7,371
SHEMHNEEES ANJAIY 589,500 589,500 0
Al 294,750
iy 294,750
402 QIZHXE0| A 589,500 589,500 0
Al 294,750
iy 294,750
01 QI2X=2EX 589,500 589,500 0
OSHZTHoH2 & 2 X2 (1,092ha)
589,500, 000& 589,500
Al 294,750
= 294,750
SENEgE2H 160,000 160,000 0
Al 80,000
iy 80,000
402 QIZ2EXE0| A 160,000 160,000 0
Al 80,000
iy 80,000
01 QI2X=2BEX 160,000 160,000 0




2A: sS4
BH: =) AS 0N
Chel: mol =XoiTe) &E 2| &2l
SA-HH O (SIH) - NEAY - BaS e 2t
Os=HME&ExTH 200,000, 000& *80% 160,000
Al 80,000
= 80,000
SE0ISSEY 54,600 54,600
g 38,094
Al 8,253
iy 8,253
307 QI2+0| & 54,600 54,600
g 38,094
Al 8,253
iy 8,253
02 QI AE X 54,600 54,600
o=z =8l sz 54,600
OARY 29X
1,000,000 x1H x12& 12,000
iy 8,372
Al 1,814
= 1,814
O3 294 300,000& x1H*12& 3,600
rag 2,512
Al 544
= 544
O n=H| 39,000,000 39,000
rag 27,210
Al 5,895
= 5,895
TSR EHFAA 21,600 21,600
= 12,000
Al 4,800
iy 4,800
307 QI2tolA 21,600 21,600
= 12,000
Al 4,800
iy 4,800
02 012t AE X 21,600 21,600




SN
X XH .
(=

chel:

OH" OH" O

At
b AS o
o =xoimet &5

SN HH G (EH) - MBAY - BYS Ak Soe s
OsSZMENSAREXAANI
1,000, 0003 *2H =123 x90% 21,600
= 12,000
Al 4,800
[ 4,800
HEMEEA T 1,654,288 2,174,286 A519,998
s 1,158,000
Al 248,143
= 248,145
401 Al &HIZ 204 1,654,288 2,174,286 A519,998
s 1,158,000
Al 248,143
i 248,145
01 Al&HI ,643,252 2,166,459 A 523,207
O=sHEMEHATUIAIYG (A4S XF) ,643,252
OEXi sl 1,130,000, 000& , 130,000
s 791,000
Al 169,500
o 169,500
OZAtHI (= Z1=290m, 3| 24201 2 )
513,252,000 513,252
s 359,276
Al 76,988
o 76,988
02 Zeltl 7,340 0 7,340
OsHEMEHATUIAIY (ASXF) 7,340
oot (20 2) 513,252,000 *1.43% 7,340
sy 5,137
Al 1,101
o 1,102
03 AlZ=0Hd] 3,696 7,827 24,131
OsHEMHATUIAIY (ASXF)
513,252,000& *0.72% 3,696
s 2,587
Al 554
i 555
ESd=g 2HEds 547,901 465,252 82,649




AN set
HH: sIp AS O
Chel: HeAsY 2IE Y5 CERE
A -3 -H2A(SH) - HEAMY - BES O AF K gl,'igig Hlws2
TEd=sgy 2HELS = 5,220
Al 237,041
= 305,640
HEd sPusX 24,060 24,060 0
Al 12,030
i 12,030
301 YotEaz 24,060 24,060 0
Al 12,030
= 12,030
10 SAIAHIEAS 24,060 24,060 0
OFEBHA=HUSEAL AHEA(360Y)
24,060,000& 24,060
Al 12,030
i 12,030
SHE=Y SHX 30,000 30,000 0
307 glz2told 30,000 30,000 0
02 BIZHEANEZX 30,000 30,000 0
OSHEIE=H 30,000,000 30,000
HEsXM =HIAE AN 107,367 107,367 0
Al 34,384
= 72,983
101 QIZH| 59,165 59,165
Al 18,932
= 40,233
10 JIZHHZ22NSEs 59,165 59,165 0
OHIsMM =HUY (125 - H)
59, 165,000& 59,165
Al 18,932
o 40,233
301 YBtEA= 48,202 48,202
Al 15,452
i 32,750
10 dAIAHIEAZ 6,000 6,000
OHHIE+H A5 H0ISAH|
50,000&+103|*12& - ™ 6,000
Al 1,937




AN s
HH: sIp AS O
Chel: HeAsY 2IE Y5 CERE
A -3 -H2A(SH) - HEAMY - BES O AF K ggi Hlws2
i 4,063
12 JIEIEAZ 42,202 42,202 0
OHHIY w et 42,202,000& 42,202
Al 13,515
i 28,687
EHE sitE Zedz3 381,254 287,000 94,254
Al 190,627
i 190,627
402 SIZ2HX =0l 381,254 287,000 94,254
Al 190,627
2 190,627
01 QIZIRI=22 X 381,254 287,000 94,254
O A S s SE 2 (230ha)
381,254,0002! 381,254
Al 190,627
i 190,627
HElE =8I XI& 5,220 6,825 A 1,605
= 5,220
301 getEazg 5,220 6,825 A 1,605
= 5,220
12 JIEIEAZ 5,220 6,825 21,605
OHHIE=+=HNX& 30& x174,000kg 5,220
= 5,220
NEBEsHE MAXA ,274,435 4,638,000 A 1,363,565
= 858,000
Al 474,800
= ,941,635
KNS E3AL ,373,000 3,142,000 A 1,769,000
s 858,000
Al 257,500
i 257,500
402 SIZ2HX =0l ,373,000 3,142,000 A 1,769,000
s 858,000
Al 257,500
i 257,500




2A: s4H
= =0t
PN

Ciel: DEISNE MUTS (el @)
SA - EH . O(EH) - NEAY - B 0] ok O Soe HRSZ
TS 1,373,000 3,142,000 21,769,000
OB S A (342ha) 373,000, 000! 373,000
2 233,002
Al 69,954
2 69,954
OHBAESILIREAL(827M)  256,000,0008 256,000
2 59,976
Al 48,012
2 48,012
OWIZ2I3F ANEHASHIEZH (135)
744,000,000%! 744,000
2 464,932
Al 139,534
2 139,534
o5 XHH XI & AFES 1,216,655 989,000 207655
402 PIZHXHEO0|H 1,216,655 989,000 207 655
0 DANESR 1,216,655 989,000 227,655
OHSTHAIZ A (5,050ha)  989,000,0008 989,000
OHIZIIA TR X
5, 00021 +75, 8851 «60% 227,655
AeZEAsY SsEATI| NYAY 36,000 24,000 2,000
402 PIZHXHE0|H 36,000 24,000 2,000
0 A= R 36,000 24,000 12,000
ONBYWASY SBATI| X
15,000, 00021 +3CH <B0% 36,000
D=0 B S8 NBAY 78,400 50,000 28,400
402 PIZIXIE0|H 78,400 50,000 28,400
01 DIAREEE 78,400 50,000 28,400
ODT=It WS DAY
3, 20024 +70, 00044 X #35% 78,400
=1 H A HAS 270,600 135,000 35,600
Al 135,300
= 135,300
402 PIZHXHEO0|H 270,600 35,000 35,600
Al 135,300
2 135,300
0 DANESE 270,600 135,000 135,600




AN s
BB 50t AS O
el DEISAS MAXE LR
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O=II AL AN (300 ) 451,000,000 *60% 270,600
Al 135,300
o 135,300
2=TH H =HIIEAIE 2tel 102,180 0 102,180
201 Lpt3H| 2,180 0 2,180
01 At 2eld] 2,180 0 2,180
CETTER=1] 2,180
OEZE47Y 50,0002 * 12 50
O=2IEEXN+L 15,0002 12 128 180
OJdlsltz+Y 200,000 200
OZglE 4337 35,0003 *50JH4 1,750
401 Al&HIZL20HYI 100,000 0 100,000
01 A&l 100,000 0 100,000
Ostg il 2==&dl 2182+ ¥ 022X
24 100,000
Osteiidl 2+=FHl 28+
60,000, 000& 60,000
ongsx 243 40,000, 000& 40,000
RPC M A ZEEAAE AX A 150,000 0 150,000
Al 75,000
= 75,000
402 LIZ2FX =0 150,000 0 150,000
Al 75,000
i 75,000
01 QZEREEX 150,000 0 150,000
OBEN REE NESHMAIAH(IH)
250,000, 000:& *60% 150,000
Al 75,000
i 75,000
S3HSE H s EXHXNIALY 14,000 0 14,000
Al 7,000
= 7,000
402 QIZ2FX =0 14,000 0 14,000
Al 7,000
i 7,000
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2A: s4H
= =0t
PN

Ciel: DEISNE MUTS LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
01 QUAR=2EX 14,000 0 14,000
O33HI= H 2= EHXA
10,000& *1,7500H *80% 14,000
Al 7,000
i 7,000
A AsERI| NJAS 33,600 0 33,600
402 QIZEXE01H 33,600 0 33,600
01 QZEREEX 33,600 0 33,600
OtHgA Ns2RIIXA
200, 000 *240CH *70% 33,600
SHLAEEH A 7,489,575 6,241,243 1,248,332
= 4,935,316
Al 587,792
i 1,966,467
ELHEH X 411,032 177,669 233,363
=2 267,381
Al 71,826
= 71,825
402 QIZEXE0|H 411,032 177,669 233,363
= 267,381
Al 71,826
2 71,825
01 QtR=8x 411,032 177,669 233,363
OE LM XIS (FF4H,299E , A4 3909 )
206,215,000& 206,215
= 164,973
Al 20,621
i 20,621
O=HI=2Z Xt Xl & (785ha) 204,817,000& 204,817
= 102,408
Al 51,205
i 51,204
S sLHAEXN=SAME 118,000 118,380 A 380
= 118,000
402 QIZEXE01H 118,000 118,380 A 380
= 118,000
01 QtR=8=x 118,000 118,380 A 380




2A: sS4
3 sIt A5 oty

ol SYASEH MK (et9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Oxsd =Y = E X = A (320ha)
118,000, 000& 118,000
= 118,000
TS B MM ZLAS 385,124 377,612 7,512
Al 191,362
s 193,762
202 Od4Hl 2,400 2,200 200
01 SLUAHbI 2,400 2,200 200
O= 204l 2,400,000& 2,400
402 QIZEXE0|M 382,724 375,412 7,312
Al 191,362
= 191,362
01 QX=X 382,724 375,412 7,312
O 2t MM AFCEHT] & & AF (443na)
478,405,000 *80% 382,724
Al 191,362
i 191,362
BASSEHIZX= AL 3,822,700 4,461,162 A638,462
= 3,822,700
201 ZEH2IH] 5,200 13,392 AN8,192
= 5,200
01 AtR2&cldl 5,200 13,392 A8,192
oget=EHl 5,200
OMASHFIIS ALY #HHI(5,200ha)
5,200,000& 5,200
= 5,200
402 QIZEXE0|M 3,817,500 4,447,770 A630,270
= 3,817,500
01 QUAR=2EX 3,817,500 4,447,770 630,270
OMASEMXF X2 AL (5,200ha)
3,817,500,000& 3,817,500
= 3,817,500
TASCIXNAXE XS A 22,300 31,420 29,120
= 15,610
Al 3,345
i 3,345
201 LAY 700 1,000 A 300




SASEN AN (e @
SA-EFH - HAAH) - N - BES Off &F K glgafg Blusz
201 ereg| = 490
Al 105
2 105
01 ARzl 700 1,000 300
CEEER=Y] 700
OXAZ2INAEEH 2 FH|(54ha)
700,000 700
=2 490
Al 105
2 105
402 DI XHEOIH 21,600 30,420 18,820
2 15,120
Al 3,240
2 3,240
01 SI2X=EE 21,600 30,420 18,820
OZXAE2|X %= 21 At (54ha)
21,600,0002 21,600
=2 15,120
Al 3,240
= 3,240
SIIEHIE(S/H) X 1,245,344 0 1,245,344
2 711,625
Al 266,859
2 266,860
402 QI XHEO0IH 1,245,344 0 1,245,344
2 711,625
Al 266,859
2 266,860
NEEEEEES 1,245,344 0 1,245,344
ORI EHIZ(SIH) X2 A (7,326ha)
1,779,062, 000! 570% 1,245,344
2 711,625
Al 266,859
2 266,860
ey sHH ALY 108,800 0 108,800
Al 54,400
2 54,400




B =) AS OHY
ol SYASEH MK (SHol:®el)
SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
402 QIZtXIE0| A 108,800 0 108,800
Al 54,400
2 54,400
01 QIZX=2BEXR 108,800 0 108,800
OX A (4, HA)=s K XIS (265ha)
98,500, 000& *80% 78,800
Al 39,400
= 39,400
ONMSHEEOI S SA O =X Z=4 (8ha)
50,000, 000& *60% 30,000
Al 15,000
= 15,000
SE& L Nazs0F JEHAH KB A 1,376,275 0 1,376,275
402 QIZHXE0| A 1,376,275 0 1,376,275
01 QI2X=2EX 1,376,275 0 1,376,275
Ox=E2& 2 NI ASHHAHY K& 1,376,275
O 25,000& *10= *5,05%a 1,264,750
(@I 25,000& *3S *1,487ha 111,525
S 3 25 4,028,721 2,340,480 1,688,241
= 24,005
Il 82,500
Al 911,078
o 3,011,138
=20 AlE 3H & =25 3,082,105 1,386,670 1,695,435
= 24,005
J| 82,500
Al 747,400
iy 2,228,200
MAAIEESH 3 358,400 228,542 129,858
J| 80,000
Al 139,200
o 139,200
402 QIZ2EXE0| A 358,400 228,542 129,858
J| 80,000
Al 139,200
o 139,200




2A: sS4
=2 g

B =9 AM Usl
CHol DRI AlM BY Y S (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 QI2tX=2EX 358,400 228,542 129,858
OFTAD |2 UK AS 178,400
ODNEZMAALESUSIAIS
178,400,000& 178,400
J| 80,000
Al 49,200
= 49,200
OSENMI=HRIA 300,000, 000& *60% 180,000
Al 90,000
= 90,000
-2 HBAHSH XA 72,005 152,728 N80,723
= 24,005
Al 24,000
iy 24,000
402 QIZ2EXE0| ™ 72,005 162,728 AN80,723
= 24,005
Al 24,000
iy 24,000
01 QI2X=2EX 72,005 152,728 AN80,723
O 4= X H| X & AF (8ha) 72,005,000& 72,005
2 24,005
Al 24,000
- 24,000
THAS FASX DAY 161,000 272,000 A 111,000
Al 80,500
iy 80,500
402 QI2EX 20| 161,000 272,000 A 111,000
Al 80,500
iy 80,500
01 QX2 EX 161,000 272,000 A 111,000
OMAZZ=AMAXZA AL (2.4ha)
402,500,000 *40% 161,000
Al 80,500
- 80,500
AMESILRSAMNME S XSAFSY 160,000 120,000 40,000
Al 80,000




A BB O(B) - NEAY - BAS sy e RS2
ANEGSAMNE S X2AAS = 80,000
402 QIZ2EX =0 160,000 120,000 40,000
Al 80,000
i 80,000
01 BIZEXI=22 X 160,000 120,000 40,000
OA A3t AIME 2= (4ha) 320,000, 000& *50% 160,000
Al 80,000
o 80,000
ANEJ0 HUXIE2ZAEE XA 200,000 180,000 20,000
Al 100,000
= 100,000
402 QI2HX=E01 A 200,000 180,000 20,000
Al 100,000
= 100,000
01 BIZEAI=22 X 200,000 180,000 20,000
OAEA0 OEHXIEZAIA (6ha)
400,000, 000& *50% 200,000
Al 100,000
o 100,000
ANAESISA SHED| HASE HEAS 144,000 144,000 0
Al 72,000
= 72,000
402 QI2HX=E01 M 144,000 144,000 0
Al 72,000
= 72,000
01 BIZEXI=22 =X 144,000 144,000 0
OB, NFSIHEII L (10ha)
288,000, 000 *50% 144,000
Al 72,000
o 72,000
sHE SFF D A (SE2AM) 1,430,800 0 1,430,800
401 Al&HIZ 20 1,430,800 0 1,430,800
01 A&l 1,430,800 0 1,430,800
OEXIH bl 210,000& *6,600m" 1,386,000
O & A& ] 1,000,000, 0002 *4. 4% 44,800
AT A AHTHEISH X ZHALS 50,400 50,400 0

_17_




2A: sS4
=2 g

B =0 AW Us
EHol: DAR0) Al FYl o 5 (SHol:®el)
SH-EH . S2(30) - MRAY - BES Ofl & 04 e HRE2
BTHA HUTYHISX KA AL A 25,200
= 25,200
402 2IbX=01M 50,400 0
A 25,200
i 25,200
01 QR=EX 50,400 0
OMTHA 2HO4THBHENX X A (0.2ha)
84,000, 000& *60% 50,400
Al 25,200
s 25,200
Stel== SR MAHA| 125,000 0
Al 62,500
= 62,500
402 2IHX=01H 125,000 0
A 62,500
= 62,500
01 QR=Ex 125,000 0
O8I+ &L | &4 & (4.2ha)
250,000,000 *50% 125,000
Al 62,500
i 62,500
FTA J12 XIZ X2 A & 2,500 2,500
Il 2,500
201 LEHRHH| 700 700
Il 700
01 ArR2elt] 700 700
oRg4+g 700
On4EEo
70,0002 x5 +23] 700
Il 700
202 Od4Hl 1,800 1,800
] 1,800
01 SLHAHI 1,800 1,800
O22l ol 1,800, 000& 1,800
Il 1,800
= BEs SEAMZ 328,000 328,000




2A: sS4
=2 g

Do =g AW U3
2l D=R0 Al ZH & 2E (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
2 S sSAME Al 164,000
= 164,000
402 BIZ2EX =0l 328,000 0 328,000
Al 164,000
= 164,000
01 BIZIXI=22 X 328,000 0 328,000
ORF HE3 SHMH(EE)
656,000, 000-& *50% 328,000
Al 164,000
i 164,000
ZCteH THEHE X =& A 50,000 0 50,000
402 SIZ2HX =01 50,000 0 50,000
01 QIZIXI=2E2 X 50,000 0 50,000
OZChel NSl X4 AF (20ha)
50,000, 000& 50,000
sttE 22 2 =50 N 394,156 408,720 A 14,564
Al 88,678
= 305,478
NEESZES sMEaEHE AR 120,000 120,000 0
402 RIZ2FX =0 120,000 120,000 0
01 BIZEXI=22 =X 120,000 120,000 0
OXNHEIESS L&A KJAALY
1,500 *100, 0000H *80% 120,000
FAFSHECX SFHIX ALY 80,000 80,000 0
Al 40,000
i 40,000
402 BIZ2HX =0l 80,000 80,000 0
Al 40,000
= 40,000
01 BIZERI=22 X 80,000 80,000 0
Ostal === FHIXNJ AL 80,000, 000& 80,000
Al 40,000
o 40,000
SAXMTHI XA 73,920 73,920 0
Al 36,960
= 36,960




= 5 — FSIE =
M« B2 - S2(3H) - MRAY - BaS arey e HRE2
402 QIEX=01 M 73,920 73,920 0
Al 36,960
= 36,960
01 QtR=8=x 73,920 73,920 0
O3t THT XA 2803 *264,0000H 73,920
Al 36,960
i 36,960
===t N& 39,800 26,800 13,000
202 Oddl 8,400 5,300 3,100
01 =LHAHYI 2,400 2,300 100
O22 | 2,400,000& 2,400
03 =2AHR0HI 6,000 3,000 3,000
Ox===Jt dHeH= s
3,000,0002 25| + 1% 6,000
203 YPSRF=&H| 800 500 300
03 AIMFAHR =LY 800 500 300
OsttE === 800,000 800
301 Lptsazg 29,600 20,000 9,600
07 BI2teI=2/04Hl 21,600 12,000 9,600
O===Jt HH= 3,000,000& *12H *60% 21,600
08 2APIE=H0AH 8,000 8,000 0
O=4r2 oflelbtol =3
2,000, 000& 23| x2H 8,000
402 2ItX=01M 1,000 1,000 0
01 BIZtA=E=x 1,000 1,000 0
O=2&E X3AS 1,000, 000& *52] «20% 1,000
SNUNSHESEHA XA 57,000 78,000 221,000
201 LEHRHH| 15,000 12,000 3,000
01 AtR2cldl 15,000 12,000 3,000
Ogtt==ZH| 15,000
OSi=E EE=S M 5,000& *3, 0005 15,000
202 OdHl 12,000 16,000 A4,000
03 =2LR0l 12,000 16,000 24,000
Os&tE oflelets g2 6,000, 000& x2H 12,000
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AN s
I =9 AW s
el M2 B8 U SEH I Rk
S HE - CRI(EH) - HRAY - B 01 &t o8 e HlRE2
403 XXIEHSA201H 30,000 30,000 0
02 SJIZSOICHECHE At I 30,000 30,000 0
OSMSHE SE2HMIA 30,000,000 30,000
== i SX =AY 23,436 30,000 NG6,564
Al 11,718
= 11,718
402 QItGE01M 23,436 30,000 N6,564
Al 11,718
2 11,718
01 QUAR=2EX 23,436 30,000 A6,564
O=EHSX SSAH(1,875,0000H)
46,872 ,000& *50% 23,436
Al 11,718
[ia 11,718
=33 2<% 24dst 552,460 545,090 7,370
Al 75,000
= 477,460
==ddz= N 300,000 300,000 0
402 2ItGE=01M 300,000 300,000 0
01 QUAR=2EX 300,000 300,000 0
O+==ZdsX& 3,000,000,000& *10% 300,000
sttE EFANSNE ALY 198,000 198,000 0
Al 66,000
i 132,000
402 QIZEXE0| M 198,000 198,000 0
Al 66,000
2 132,000
01 QX=X 198,000 198,000 0
Ostts =Fd = 198,000, 000& 198,000
Al 66,000
i 132,000
sSMSHHN & ELEA 0 54,460 47,090 7,370
Al 9,000
= 45,460
201 Lt 11,020 21,150 A 10,130
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2A: sS4
. HYSIHH (sS4t
o J2ddl (sat) (Stel-&3)
_ _ PSEN=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
201 B9y 35,393 32,342 3,051
01 ArR2t2lbl 35,393 32,342 3,051
Oget=gH| 21,953
Os¥u&M2Y 21,953,000 21,953
OF=3=1:] 13,440
OsAHW&2H 13,440,000& 13,440
202 O4H| 46,080 63,360 A 17,280
01 =2WAbI 46,080 63,360 N 17,280
o2l 46,080,000 46,080
405 KHaHE S H] 500 0 500
01 T ESFHSHI 500 0 500
OCIXIEotulet 500,000& = 1CH 500
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